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àíZn{ÌH$m gmoS>{dÊ¶mnydu H¥$n¶m Imbrb gyMZm H$miOrnyd©H$ dmMm …

(1)	 ¶m àíZn{ÌHo$V XmoZ {d^mJ AmhoV. Ë¶mn¡H$s {d^mJ I ‘Ü¶o àW‘ ^mfm {df¶mgmR>r 1 Vo 25 d {d^mJ II ‘Ü¶o J{UV 
{df¶mgmR>r 26 Vo 75 Ago EHy$U 75 àíZ AmhoV. gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

(2)	 àË¶oH$ àíZmgmR>r 2 JwU AmhoV.
(3)	 àíZn{ÌH$m gmoS>{dÊ¶mgmR>r EHy$U 90 {‘{ZQ>m§Mm H$mbmdYr {Xbm OmB©b.
(4)	 CÎmao Zm|X{dÊ¶mgmR>r ñdV§Ì CÎman{ÌH$m {Xbobr Amho. àË¶oH$ àíZH«$‘m§H$mg‘moa Mma n¶m©¶mgmR>r H«$‘mJV dVw©io 

{Xbobr AmhoV. Ë¶mVrb AMyH$ CÎmamMm n¶m©¶ H«$‘m§H$ Agbobo dVy©i nwT>rb CXmhaUmV XmI{dë¶mà‘mUo a§Jdm. 
CXm. àíZ H«$. 6 À¶m ~amo~a CÎmamMm n¶m©¶ H«$. 2 Agob, Va Vmo nwT>rbà‘mUo Zm|Xdmdm.

	 àíZ H«$. 6 	 1 1 3 4
(5)	 Imbrbà‘mUo Zm|X{dbobr CÎmao J«mø YaÊ¶mV ¶oUma ZmhrV. Ago CÎma Zm|X{dë¶mg Ë¶m àíZmg "eyÝ¶' JwU {Xbo 

OmVrb.   		 1 2 4

(6)	 àË¶oH$ àíZmgmR>r EH$mnojm A{YH$ dV©wimV Zm|X{dbobr CËVao, ImS>mImoS> H$ê$Z Zm|X{dbobr CËVao J«mø YaÊ¶mV ¶oUma 
ZmhrV.

(7)	 EH$Xm Zm§oX{dbobr CÎmao nwÝhm ~XbVm ¶oUma ZmhrV.
(8)	 n¶m©¶mMr CÎmao Zm|X{dVmZm ’$³V H$mù¶m qH$dm {Zù¶m a§JmÀ¶m ~m°bnoZMmM dmna H$amdm. nopÝgbZo Zm§oX{dbobr CËVao 

J«mø YaÊ¶mV ¶oUma ZmhrV.
(9)	 àíZn{ÌHo$V àË¶oH$ nmZmda Imbr d eodQ>À¶m nmZmda H$ƒo H$m‘ H$aÊ¶mgmR>r ‘moH$ir OmJm Amho, VoWoM H$ƒo H$m‘ 

H$amdo.
(10)	 narjog ‘¶m©{XV doi Agë¶mZo EImXçm àíZmMo CËVa Vwåhmbm ¶oV Zgë¶mg nwT>rb àíZ gmoS>dm. eodQ>r doi {eëbH$ 

am{hë¶mg Caboë¶m àíZm§gmR>r nwÝhm à¶ËZ H$amdm.
(11)	 EImXçm àíZmV ÌwQ>r/MyH$ AmT>ië¶mg Ë¶m~m~V n¶©dojH$ qH$dm narjm H|$Ðg§MmbH$ ¶m§À¶mH$S>o {dMmaUm H$ê$ Z¶o.
(12)	 àíZmVrb ÌwQ>r/MyH$/Amjonm~m~VMo {ZdoXZ emioZo qH$dm nmbH$m§Zr JQ>{ejUm{YH$mar qH$dm {ejUm{YH$mar ¶m§À¶mH$S>o 

boIr ñdê$nmV Z nmR>dVm g§~§{YV emioÀ¶m bm°JrZ ‘YyZ Am°ZbmB©Z nÕVrZoM nmR>dmdo.
(13)	 ÌwQ>r/MyH$/Amjonm~m~VMo {ZdoXZ Am°ZbmB©Z nÕVrZo nmR>{dÊ¶mMr ‘wXV narjm n[afXoÀ¶m g§Ho$VñWimda A§V[a‘ 

(VmËnwaVr) CËVagyMr à{gX²Y Pmë¶mnmgyZ 10 (Xhm) {Xdgm§n¶ªV amhrb.
(14)	 ‘wÐUXmof qH$dm AÝ¶ H$maUm§‘wio àíZ MwH$sMm Agë¶mMo AmT>ië¶mg Vk g{‘VrÀ¶m A{^àm¶mZwgma ¶mo½¶ Vr 

H$m¶©dmhr Ho$br OmB©b.
(15)	 ‘yi ‘mÜ¶‘mgmo~V B§J«Or ^mfoVrb àíZn{ÌH$m {Xbobr Amho. ‘yi ‘mÜ¶‘mVrb g§{X½Y àíZm§~m~V B§J«Or àíZ nhmdoV.

nona H«$. - I

doi : 11:00 Vo 12:30	 ‘mÜ¶‘ … ‘amR>r	

EHy$U JwU : 150	 àW‘ ^mfm d J{UV	 n¥îR> : 32

~¡R>H$ H«$.

0 1 0 1

nyd© Cƒ àmW{‘H$ {eî¶d¥Îmr narjm (B¶Îmm 5 dr), ’o$~«wdmar 2024
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H$ÀÀ¶m H$m‘mgmR>r ’$³V

{d^mJ - I

‘amR>r

01. nwT>rb AmH¥$VrV Agboë¶m Ajam§nmgyZ V¶ma hmoUmè¶m 
AW©nyU© åhUrVrb Mm¡Ï¶m AjamMm n¶m©¶ {ZdS>m.

(1)	 d

(2)	 ~m

(3)	 Xo

(4)	 ‘w

‘w
ir

ir

Xo
d

d
Ðm

Ðm

{Z

~m

02. "{gñQ>r‘' ¶m eãXmbm n¶m©¶r ‘amR>r eãX H$moUVm?

(1)	 OmoS>Ur	 (2)	 àUmbr	 (3)	 dmnaH$Vm©	 (4)	 ‘m{hVr

àíZ H«$. 03 Vo 05 gmR>r gyMZm -  

	 �nwT>rb gwg§JV dm³¶m§Mm n[aÀN>oX AW©nyU© hmoÊ¶mgmR>r {Xboë¶m n¶m©¶m§VyZ ¶mo½¶ n¶m©¶ {ZdS>m.

03. gd© {dX²¶mWu ............ O‘bo hmoVo.

(1)	 ZmQ>²¶J¥hmV			   (2)	 {H$ëë¶mda

(3)	 g^mJ¥hmV			   (4)	 gH©$erÀ¶m V§~yV

04. VoWo gdmªZr ............

(1)	 amo‘hf©H$ H$gaVr nm{hë¶m.	 (2)	 ¶moJgmYZm Ho$br.

(3)	 ~wê$OmMr nmhUr Ho$br.		 (4)	 ZmQw>H$bo nm{hbo.

05. {Z{‘ËV hmoVo 21 OyZ amoOr gmOam hmoUmè¶m OmJ{VH$ ............ 

(1)	 ZmQ²>¶{XZmMo			   (2)	 ~mb{XZmMo

(3)	 n¶m©daU {XZmMo			   (4)	 ¶moJ{XZmMo
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06. nwT>o {Xboë¶m eãXg‘yhm~X²Xb EH$ AMyH$ eãX n¶m©¶m§VyZ {ZdS>m.

‘moO³¶m eãXmV gm§{JVbobo VËËd - 

(1)	 ‘§Ì			   (2)	 gyÌ

(3)	 V§Ì			   (4)	 ¶§Ì

07. Imbrb eãX dUm©ZwH«$‘o bmdë¶mg ‘Ü¶^mJr ¶oUmè¶m eãXmMm n¶m©¶ {ZdS>m.

ZOa, dOZ, Oa~, ZJa, JaO, JOam, MaU

(1)	 ZJa			   (2)	 dOZ

(3)	 Oa~			   (4)	 ZOa

08. Ogo, J§Or-JdVmMr, Vgo ............ - YmÝ¶mMr.

(1)	 MiV			   (2)	 amg

(3)	 Omir			   (4)	 OwS>r

09. Imbrbn¡H$s "AmaVr à^y' åhUyZ H$moUmg g§~moYbo OmVo?

(1)	 ¶ed§V {XZH$a n|T>maH$a		 (2)	 qMVm‘U Í¶§~H$ ImZmobH$a

(3)	 AmË‘mam‘ amdOr Xoenm§S>o	 (4)	 ‘m{UH$ e§H$a JmoS>KmQ>o

10. Imbrb dm³¶mVrb AYmoao{IV eãXmMm {dê$X²YmWu eãX n¶m©¶m§VyZ {ZdS>m.

amYmMr ~mhþbr ~mobH$s Amho.

(1)	 ~{ham			   (2)	 em§V

(3)	 ~S>~S>r			   (4)	 A~mob

11. nwT>rbn¡H$s àmUr d Ë¶m§Mm {Zdmam ¶m§Mr MwH$sMr OmoS>r AmoiIm.

(1)	 H$moir-KaQ>o			   (2)	 qgh-Jwhm

(3)	 gmn-~ri			   (4)	 KmoS>m-V~obm
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12. Imbrbn¡H$s H$moUË¶m n¶m©¶m§Vrb Ajao KoVë¶mg gd© C^o AW©nyU© eãX V¶ma hmoVrb?

- - - -

X X X X

Z Z Z Z

(1)	 dm, g, ê$, nm			   (2)	 ñn§, dm, ê$, g

(3)	 Jmo, dm, Z, ñn§			  (4)	 d§, gm, a, d

13. nwT>rbn¡H$s H$moUË¶m n¶m©¶m§Vrb eãX {Xboë¶m gd© AWmªZr dmnabm OmV Zmhr?

(1)	 à{V‘m - à{Vq~~, {MÌ	 (2)	 ^md - Xa, ^³Vr 

(3)	 dU© - a§J, ‘yiÜdZr		  (4)	 dmg - J§Y, Adga

àíZ H«$. 14 Vo 16 gmR>r gyMZm -  

Imbrb CVmam dmMyZ Ë¶mda AmYm[aV {dMmaboë¶m àíZm§Mr CÎmao n¶m©¶m§VyZ {ZdS>m.	

	 gm~UmZo eara ñdÀN> hmoVo; na§Vw ‘Zm‘Ü¶o dmB©Q> {dMma AgVrb, ImoQ>o ~mobÊ¶mMr gd¶ 
Agob, Xþgè¶m§Zm ’$gdÊ¶mMr, bw~mS>Ê¶mMr g§Yr AmnU emoYV Agy qH$dm MhmS>r, Q>dmir Am{U 
qQ>Jb H$aÊ¶mMr gd¶ Agob, Ë¶mZo {H$Vrhr gm~U bmdyZ eara KmgyZ KmgyZ ñdÀN> Ho$bo, 
Var Ë¶mMo OrdZ {Z‘©i hmoD$ eH$V Zmhr, H$maU Ë¶mMo {MËV ewÕ Zmhr Am{U åhUyZM Ë¶mbm 
{H$Vrhr CX²~moYH$ {dMma nQ>dyZ XoÊ¶mMm à¶ËZ Ho$bm, Var Ë¶mbm Vo nQ>V ZmhrV. Jir CVaV 
ZmhrV. Ogo dg§V F$Vy Amë¶mda d¥j AmnmoAmn ’$im§Zr ~haVmV, nU EImXçm d¥jmbm ’$ioM 
¶oV ZgVrb, Va dg§V F$Vy ¶oD$Zhr Ë¶m d¥jmbm Ë¶mMm Cn¶moJ ZgVmo. àmU Jobobo eara 
H$moUVrhr {H«$¶m dm ì¶dhma H$ê$ eH$V Zmhr. nmÊ¶m{edm¶ eoVm‘Ü¶o nrH$ ¶oD$ eH$V Zmhr. 
gm~U Amnbo eara ñdÀN> H$ê$ eH$Vmo; nU Amnbo OrdZ {Z‘©i H$ê$ eH$V Zmhr.
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14. EImX²¶mMo OrdZ Ho$ìhm {Z‘©i hmoD$ eHo$b?

(1)	 Ë¶mÀ¶m ‘ZmV dmB©Q> {dMma AgVrb Va 

(2)	 Ë¶mbm qQ>Jb-Q>dmir H$aÊ¶mMr gd¶ Agob Va

(3)	 Vmo Xþgè¶m§Zm bw~mS>Ê¶mMr g§Yr emoYV Agob Va

(4)	 Ë¶mMo {MËV ewÕ Agob Va 

15. "nQ>dyZ XoUo' ¶m AWm©Mm H$moUVm dm³àMma CVmè¶mV Ambm Amho?

(1)	 g§Yr emoYUo.			   (2)	 Jir CVadUo.

(3)	 MhmS>r H$aUo.			   (4)	 ~haUo.

16. Imbrbn¡H$s H$moUVo CXmhaU CVmè¶mV Ambo Zmhr?

(1)	 d¥jmbm ’$ioM ¶oV ZgVrb, Va dg§V F$VyMmhr Cn¶moJ hmoV Zmhr.		

(2)	 {MËV ewÕ Zgob, Va CX²~moYH$ {dMma nQ>V ZmhrV.

(3)	 gm~U eara ñdÀN> H$aVmo, Va nmÊ¶mZo ‘Z ñdÀN> hmoVo.			 

(4)	 àmU Zgbobo eara H$moUVohr ì¶dhma H$ê$ eH$V Zmhr.
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àíZ H«$. 17 Vo 19 gmR>r gyMZm - 

�nwT>rb Om{hamVrMo bjnyd©H$ {ZarjU H$ê$Z Ë¶mda AmYm[aV {dMmaboë¶m àíZm§Mr CËVao 
n¶m©¶mVyZ {ZdS>m:

gwdU©g§Yr! gwdU©g§Yr!! gwdU©g§Yr!!!

^mfmào‘r ‘§S>i
Am¶mo{OV

"gw§Xa hñVmja ‘mJ©Xe©Z dJ©'

Vw‘À¶m boIZmbm JVr Zmhr? Aja diUXma ¶oV Zmhr?
Va n¶m©¶ EH$M...

gw§Xa hñVmja ‘mJ©Xe©Z dJ© àdoemgmR>r AmOM 
Zmd Zm|XUr H$am.

Am‘Mr d¡{eîQ>ço -
	 	 •	 VÁk ‘mJ©Xe©H$
	 	 •	 ^anya boIZmMm gamd
	 	 •	 gamdmgmR>r e¡j{UH$ gm{hË¶ CnbãY
	 	 •	 gwg‚m dmVmZwHy${bV à{ejU dJ©

* ñWi : 12, Jwédma noR>, gmVmam.
* ‘mJ©Xe©Z dJm©Mr doi : gH$mir 7.00 Vo 10.00 dm.

àdoe  

  ‘¶m©{XV...
d¶moJQ>

5 Vo 13 df©

‘m’$H$ ’$s

17. "gw§Xa hñVmja dJm©Mo' nwT>rbn¡H$s H$moUVo d¡{eîQ>ç Zmhr?

(1)	 nadS>Umar ’$s.			   (2)	 {Xdg^a ‘mJ©Xe©Z.

(3)	 ^anya boIZ gamd.		  (4)	 gwg‚m dmVmZwHy${bV à{ejU dJ©.

18. gw§Xa hñVmjamVrb gdm©{YH$ gwYmaUm H$moUË¶m d¶moJQ>mV hmoB©b?

(1)	 8 dr Vo 10 dr		  (2)	 10 dr Vo 12 dr

(3)	 ’$³V ‘mÜ¶{‘H$ 			  (4)	 {eew dJ© Vo 7 dr
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19. "gw§Xa hñVmja ‘mJ©Xe©Z dJ©' H$moUr Am¶mo{OV Ho$bm Amho?

(1)	 VÁk ‘mJ©Xe©H$			   (2)	 5 Vo 13 df© d¶moJQ>mVrb {dX²¶mWu

(3)	 ^mfmào‘r ‘§S>i			   (4)	 gmVmam {Oëhm

20. " aoIrd am§Jmoir A§JUmV emo^yZ {XgVo.' darb dm³¶mV {deoî¶ H$moUVo?

(1)	 aoIrd	 (2)	 A§JU	 (3)	 am§Jmoir	 (4)	 emo^yZ

21. {Xboë¶m n¶m©¶m§‘Yrb {ZpíMVnUo EH$dMZr Zgbobm eãX H$moUVm?

(1)	 h[aU	 (2)	 dmK	 (3)	 ggm	 (4)	 {MÎmm

22. Imbrb dm³¶mV H$moUVo {dam‘{MÝh X²¶m¶Mo am{hbo Amho? 
"àW‘oe ‘w§~B©bm Jobm nU Ë¶mMo H$m‘ PmboM Zmhr.'

(1)	 nyU©{dam‘	 (2)	 CX²Jma{MÝh	 (3)	 ñdën{dam‘	 (4)	 AY©{dam‘

23. Imbrbn¡H$s ^yVH$mir dm³¶mMm n¶m©¶ {ZdS>m.

(1)	 Vr ZmMV AgVo.			  (2)	 Vr ZmMV OmB©b.

(3)	 ‘r ZXrH$mR>r IoiV Ago.	 (4)	 Vmo Zoh‘rM C{eam CR>Vmo.

24. nwT>rb n¶m©¶m§VyZ ewX²Y eãX AmoiIm.

(1)	 {H«$S>m‘hmoËgd	 (2)	 Am¡X²¶mo{JH$	 (3)	 Z¡VrH$	 (4)	 amï´>Hy$b

25. Imbrb dm³¶mMm AW© nyU© H$aÊ¶mgmR>r ¶mo½¶ dm³àMma n¶m©¶m§VyZ {ZdS>m.

VmQ>mVrb gwJ«mg OodU nmhÿZ àmMrÀ¶m ............

(1)	 Vm|S>Mo nmUr niUo		  (2)	 Vm|S>mbm nmZo nwgUo

(3)	 Vm|S>mbm nmUr gwQ>Uo		  (4)	 Vm|S>Mm Kmg H$mT>Uo
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SPACE FOR ROUGH WORK

SECTION - II

MATHEMATICS
26. Which of the following statements is false?

(1)	 Cuboid is three dimensional.
(2)	 Cuboid has 12 edges.
(3)	 All surfaces of a cuboid are square in shape.
(4)	 Length, breadth and height of a cuboid can be measured.

27. How will you write twenty two thousand two hundred and fifty in international 
number system?
(1)	 22150			   (2)	 22150	
(3)	 22250			   (4)	 22250

28. What is the perimeter of the adjacent figure?

4 cm

2 
cm

2 
cm

2 
cm

2 cm

2 cm

2 cm

6 
cm

(1)	 16 cm			   (2)	 36 cm
(3)	 18 cm			   (4)	 30 cm
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{d^mJ - II

J{UV

26. Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?

(1)	 B{ï>H$m{MVr {Ì{‘Vr¶ AgVo.	

(2)	 B{ï>H$m{MVrbm 12 H$S>m AgVmV.

(3)	 B{ï>H$m{MVrMr gd© n¥ð>o Mm¡agmH¥$VrM AgVmV.		

(4)	 B{ï>H$m{MVrMr bm§~r, ê§$Xr d C§Mr ‘moOVm ¶oVo.

27. "gìdm ~mdrg hOma' hr g§»¶m Am§Vaamï´>r¶ g§»¶m {MÝhmV H$er {bhmb?

(1)	 22150			   (2)	 22150

(3)	 22250			   (4)	 22250

28. Imbrb AmH¥$VrMr n[a{‘Vr {H$Vr go‘r Amho?

4 go‘r

2 
g

o‘r

2 
g

o‘r

2 
g

o‘r

2 go‘r

2 go‘r

2 go‘r

6 
g

o‘r

(1)	 16 go‘r			   (2)	 36 go‘r

(3)	 18 go‘r			   (4)	 30 go‘r
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SPACE FOR ROUGH WORK

29. Dilip purchased a motorcycle for Rs. 35900. He spent Rs. 3780 on its repairs. 
After some days, he sold the motorcycle for Rs. 40750. How much profit did 
he make in this transaction?

(1)	 Rs. 1070			   (2)	 Rs. 4850	

(3)	 Rs. 36970			   (4)	 Rs. 32120

30. At a ration shop, 85 sacks of wheat, 50 sacks of rice and 15 sacks of tur dal 
was available for sale. If every sack contained 40 kg of grains, How much 
grains in kilograms, were available for sale?

(1)	 150 kg			   (2)	 600 kg	

(3)	 6000 kg			   (4)	 4000 kg

31. Which amongst > , < or = will be appropriate to fill in the boxes between, 
the below given fractions.

4
3

8
6

9
7

(1)	 = , >			   (2)	 < , <	

(3)	 > , <			   (4)	 = , <

32. Pick out the wrong statement from the given statements.

(1)	 The product of any number and zero is zero.

(2)	� Multiplication of odd number with other odd number results in even number.

(3)	� Multiplicant × Multiplier = 0. Then either Multiplicant or Multiplier is zero.

(4)	� When same digit appears at the one’s place in two numbers then 8 will 
not appear in one’s place of their product.
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29. {XbrnZo 35900 ê$n¶mbm EH$ ‘moQ>magm¶H$b IaoXr Ho$br. {VÀ¶m XþéñVrgmR>r 3780 ê$n¶o 
IM© Ho$bm. H$mhr {Xdgm§Zr {XbrnZo Vr ‘moQ>magm¶H$b 40750 ê$n¶mbm {dH$br. Va Ë¶mbm 
¶m ì¶dhmamV {H$Vr Z’$m Pmbm?

(1)	 1070 ê$n¶o			   (2)	 4850 ê$n¶o

(3)	 36970 ê$n¶o			   (4)	 32120 ê$n¶o

30. EH$m ñdñV YmÝ¶mÀ¶m XþH$mZmV 85 nmoVr Jhÿ , 50 nmoVr Vm§Xÿi, 15 nmoVr VyaS>mi 
{dH«$sgmR>r Ambo. Oa àË¶oH$ nmoË¶mV 40 {H$J«° YmÝ¶ Agob Va Ë¶m ñdñV YmÝ¶mÀ¶m 
XþH$mZmV EHy$U {H$Vr {H$J«° YmÝ¶ {dH«$sgmR>r Ambo?

(1)	 150 {H$J«°			   (2)	 600 {H$J«°

(3)	 6000 {H$J«°			   (4)	 4000 {H$J«°

31. Imbrb AnyUmªH$m§À¶m OmoS>çm‘Yrb Mm¡H$Q>rV > , < qH$dm = ¶mn¡H$s H$moUVr {MÝh ¶mo½¶ 
R>aVrb?

4
3

8
6

9
7

(1)	 = , >			   (2)	 < , <

(3)	 > , <			   (4)	 = , <

32. {Xboë¶m {dYmZmn¡H$s MwH$sMo {dYmZ AmoiIm.

(1)	 H$moUVrhr g§»¶m d eyÝ¶ ¶m§Mm JwUmH$ma eyÝ¶ ¶oVmo. 			 

(2)	 H$moUË¶mhr {df‘ g§»¶obm {df‘ g§»¶oZo JwUbo AgVm CËVa g‘ g§»¶m {‘iVo. 

(3)	 JwÊ¶ � JwUH$ = 0 Agob Va JwÊ¶ qH$dm JwUH$ eyÝ¶ AgVrb.

(4)	� H$moUË¶mhr XmoZ g§»¶m§À¶m EH$H$ñWmZr g‘mZ A§H$ Agë¶mg JwUmH$mamÀ¶m EH$H$ñWmZr 
8 hm A§H$ ¶oUma Zmhr.
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SPACE FOR ROUGH WORK

33. Roshni needed 1 hr. 30 min. to travel from Nagpur to Wardha. She took rest for 
15 min. She completed Wardha to Yavatmal distance journey in 1 hr. 50 min. 
If Roshni had started from Nagpur at 10 in the morning then at what time 
will she reach Yavatmal?

(1)	 20 min. past 1		  (2)	 35 min. past 3

(3)	 35 min. past 1		  (4)	 35 min. past 12

34. The labour charge to paint a rectangular wall at the rate of Rs. 45 per sq.m. 
is Rs. 2700. If the length of the wall is 15 m, what must be the breadth of 
the wall?

(1)	 3 m			   (2)	 180 m	

(3)	 60 m			   (4)	 4 m

35. 12 kg + 1350 gm = How much?

(1)	 1362 kg			   (2)	 1362 gm	

(3)	 13.350 kg			   (4)	 13.350 gm

36. Yogesh received Rs. 72 and 5 paisa as interest on his deposits in bank. How 
will you write this in decimal form?

(1)	 Rs. 72.05			   (2)	 Rs. 72.5	

(3)	 Rs. 72.50			   (4)	 Rs. 72.005

37. A merchant bought 300 sacks of wheat at Rs. 2500 per quintal. Due to heavy 
rains, 70 sacks of grains were destroyed. He sold the remaining sacks at the 
rate of Rs. 2700 per quintal. How much profit or loss did he make in this 
transaction?

(1)	 Rs. 60000 profit	 	 (2)	 Rs. 129000 loss

(3)	 Rs. 175000 loss	 	 (4)	 Rs. 46000 profit
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33. amoeZrbm ZmJnya Vo dYm© ¶m àdmgmgmR>r 1 Vmg 30 {‘{ZQ>o bmJbr. 15 {‘{ZQ>m§Mr {dlm§Vr 
KoD$Z {VZo dYm© Vo ¶dV‘mi hm àdmg 1 Vmg 50 {‘{ZQ>m§V nyU© Ho$bm. Oa amoeZr 
gH$mir 10 dmOVm ZmJnyahÿZ {ZKmbr Agob Va Vr ¶dV‘mibm {H$Vr dmOVm nmohMob?

(1)	 1 dm 20 {‘.			   (2)	 3 dm 35 {‘.

(3)	 1 dm 35 {‘.			   (4)	 12 dm 35 {‘.

34. EH$m Am¶VmH¥$Vr q^Vrbm a§J XoÊ¶mgmR>r 45 ê$n¶o àVr Mm¡ag‘rQ>a XamZo 2700 ê$n¶o 
‘Oyar X²¶mdr bmJVo. Oa q^VrMr bm§~r 15 ‘rQ>a Agë¶mg Ë¶m q^VrMr ê§$Xr {H$Vr 
‘rQ>a Agob?

(1)	 3 ‘rQ>a			   (2)	 180 ‘rQ>a

(3)	 60 ‘rQ>a			   (4)	 4 ‘rQ>a

35. 12 {H$J«° + 1350 J«°‘ = {H$Vr?

(1)	 1362 {H$J«°			   (2)	 1362 J«°‘

(3)	 13.350 {H$J«°			   (4)	 13.350 J«°‘

36. ¶moJoebm ~±Ho$Vrb R>odrda ~mhËVa ê$n¶o nmM n¡go ì¶mO {‘imbo Va hr g§»¶m Xem§e 
nÕVrV H$em àH$mao {bhrVm ¶oB©b? 

(1)	 72.05 ê$n¶o			   (2)	 72.5 ê$n¶o

(3)	 72.50 ê$n¶o			   (4)	 72.005 ê$n¶o

37. EH$m ì¶mnmè¶mZo 2500 àVr p³d§Q>b XamZo JìhmMo 300 nmoVr KoVbr. AVrd¥ï>r‘wio Ë¶mn¡H$s 
70 nmoVr YmÝ¶ Iam~ Pmbo. Cd©[aV JìhmMr nmoVr Ë¶mZo 2700 ê$n¶o à{V p³d§Q>b XamZo 
{dH$br. Va Ë¶mbm ¶m ì¶dhmamV Z’$m Pmbm H$s VmoQ>m d {H$Vr?>> 

(1)	 60000 ê$n¶o Z’$m		  (2)	 129000 ê$n¶o VmoQ>m

(3)	 175000 ê$n¶o VmoQ>m		  (4)	 46000 ê$n¶o Z’$m
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38. For flood victims at Kolhapur, 5 social organisations contributed Rs. 12870, 
Rs. 13850, Rs. 9640, Rs. 25390, Rs. 7450 respectively. How much total relief 
fund was collected?

(1)	 Rs. 126250			   (2)	 Rs. 222910	

(3)	 Rs. 66750			   (4)	 Rs. 69200

39. During a 3 day Drama festival, at the auditorium, out of 1250 seats, 12% seats 
remained vacant on the first day, 10% seats were vacant on second day and 
on third day 4% seats remained vacant. How many seats remained vacant in 
total, during the three days?

(1)	 150			   (2)	 250	

(3)	 325			   (4)	 350

40. If 15th March is Monday, then which day will occur 5 times, in that month?

(1)	 Thursday			   (2)	 Wednesday	

(3)	 Friday			   (4)	 Saturday

41. If the radius of a circle is 2
7  cm, then what is its diameter in cms?

(1)	 3.5 cm			   (2)	 14 cm	

(3)	 3.5 m			   (4)	 7 cm

42. The numbers 78312, 78135, 78351 and 78531 are arranged in descending order. 
What will be the sum of the 1st number and 3rd number from the right side?

(1)	 156882			   (2)	 156447	

(3)	 156843			   (4)	 156446
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38. H$moëhmnyamVrb nyaJ«ñVm§À¶m ‘XVrgmR>r nmM godm^mdr g§KQ>Zm§Zr AZwH«$‘o <12870, 
<13850, <9640, <25390, <7450, Mr ‘XV Ho$br. Va EHy$U {H$Vr ê$n¶o  
‘XV {ZYr O‘m Pmbm? 

(1)	 126250 ê$n¶o			   (2)	 222910 ê$n¶o

(3)	 66750 ê$n¶o			   (4)	 69200 ê$n¶o

39. VrZ {Xdgr¶ ZmQ>ç ‘hmoËgdmV ZmQ>ç g^mJ¥hmÀ¶m 1250 AmgZmn¡H$s n{hë¶m {Xder 12%, 
Xþgè¶m {Xder 10% d {Vgè¶m {Xder 4% AmgZo [aH$m‘r am{hbr Va VrZ {XdgmV 
EHy$U {H$Vr AmgZo [aH$m‘r am{hbr? 

(1)	 150			   (2)	 250

(3)	 325			   (4)	 350

40. 15 ‘mM©bm gmo‘dma Amho Va Ë¶m ‘{hÝ¶mV H$moUVm dma nmM doim ¶oB©b?

(1)	 Jwédma			   (2)	 ~wYdma

(3)	 ewH«$dma			   (4)	 e{Zdma

41. EH$m dVw©imMr {ÌÁ¶m 2
7  go‘r Amho. Va Ë¶mMm ì¶mg {H$Vr go‘r Amho?

(1)	 3.5 go‘r			   (2)	 14 go‘r

(3)	 3.5 ‘r			   (4)	 7 go‘r

42. 78312, 78135, 78351, 78531 ¶m g§»¶m CVaË¶m H«$‘mZo bmdë¶mg Ë¶mVrb n{hbr 
d COdrH$Sy>Z {Vgar AgUmè¶m g§»¶m§Mr ~oarO {H$Vr?

(1)	 156882			   (2)	 156447

(3)	 156843			   (4)	 156446
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43. Fifteen litres two hundred ml. – Thirteen litres five hundred and  
thirty ml. = How much?
(1)	 Two litres six hundred and seventy ml.	
(2)	 1.670 ml.
(3)	 One litre six hundred and seventy ml.
(4)	 2.670 ml.

44. Which of the following is completely divisible by 3?
(1)	 7553			   (2)	 1733	
(3)	 2352			   (4)	 9851

45. Which of the following expressions is equivalent to the fraction 35
14 ?

(1)	 7
3

7
2- 			   (2)	 5

8
5
6- 	

(3)	 5
4

5
3+ 			   (4)	 7

5
7
2+

46. Pranav wants to buy a plot for Rs. 2417300 but he has Rs. 712300 with him. 
He will have to arrange the remaining amount from bank loan. How much 
amount should he borrow as loan?
(1)	 Rs. Seventeen lakhs five thousand
(2)	 Rs. Seventeen lakhs fifty thousand
(3)	 Rs. Seventeen lakhs
(4)	 Rs. Seventeen lakhs five thousand and three hundred

47. 12 hours 18 min. – 6 hrs. 45 min. = how much?
(1)	 5 hrs. 73 min.		  (2)	 5 hrs. 33 min.
(3)	 5 hrs. 78 min.		  (4)	 6 hrs. 27 min.
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43. n§Yam brQ>a XmoZeo {‘br � Voam brQ>a nmMeo Vrg {‘br = {H$Vr?

(1)	 XmoZ brQ>a ghmeo gËVa {‘br	
(2)	 1.670 {‘br

(3)	 EH$ brQ>a ghmeo gËVa {‘br	
(4)	 2.670 {‘br

44. Imbrbn¡H$s H$moUË¶m g§»¶obm VrZZo {Z:eof ^mJ OmVmo?

(1)	 7553			   (2)	 1733

(3)	 2352			   (4)	 9851

45.
35
14  hm AnyUmªH$ H$moUË¶m n¶m©¶mMm g‘‘yë¶ AnyUmªH$ Amho?

(1)	 7
3

7
2- 			   (2)	 5

8
5
6- 	

(3)	 5
4

5
3+ 			   (4)	 7

5
7
2+

46. àUdbm 2417300 ê$n¶mMm ßbm°Q> IaoXr H$am¶Mm Amho. nU Ë¶mÀ¶mOdi 712300 ê$n¶o 
AmhoV. Cd©[aV a³H$‘ Ë¶mbm ~±Ho$VyZ H$O© ¿¶md¶mMo Amho. Va Ë¶mbm {H$Vr a³H$‘ H$O© 
¿¶mdo bmJob?  

(1)	 gVam bmI nmM hOma		
(2)	 gVam bmI nÝZmg hOma 

(3)	 gVam bmI			 
(4)	 gVam bmI nmM hOma VrZeo

47. 12 Vmg 18 {‘. � 6 Vmg 45 {‘. = {H$Vr?

(1)	 5 Vmg 73 {‘.			   (2)	 5 Vmg 33 {‘.

(3)	 5 Vmg 78 {‘.			   (4)	 6 Vmg 27 {‘.
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48. What is the sum of all the divisors of 90?

(1)	 233			   (2)	 228	

(3)	 204			   (4)	 234

49. If the fractions are arranged in ascending order, what will be double of the 
fraction at the second last place?

4
1  , 7

1  , 8
1  , 2

1  , 5
1

(1)	 7
2 			   (2)	 5

2 	

(3)	 2
1 			   (4)	 2

2

50. Ramesh and Sudha deposited same amount at two different places. Ramesh got 
interest at 8 p.c.p.a. and Sudha got interest at 7.5 p.c.p.a. If Ramesh has got 
Rs. 500 more than Sudha, then find the amount that Ramesh had deposited.

(1)	 Rs. 100000			   (2)	 Rs. 50000	

(3)	 Rs. 7500			   (4)	 Rs. 150000

51. Choose the correct option to fill in the box.

932004 –  = 59896

(1)	 991900			   (2)	 927892	

(3)	 857898			   (4)	 872108
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48. 90 À¶m gd© {d^mOH$m§Mr ~oarO {H$Vr?

(1)	 233			   (2)	 228

(3)	 204			   (4)	 234

49. {Xbobo AnyUmªH$ MT>Ë¶m H«$‘mZo ‘m§S>ë¶mg eodQy>Z Xþgè¶m AnyUmªH$mMr XþßnQ> {H$Vr?

4
1  , 7

1  , 8
1  , 2

1  , 5
1

(1)	 7
2 			   (2)	 5

2

(3)	 2
1 			   (4)	 2

2

50. a‘oe d gwYmZo EH$m dfm©H$[aVm gmaIr a³H$‘ doJdoJù¶m {R>H$mUr R>od åhUyZ R>odbr. 
a‘oebm X.gm.X.eo. 8 XamZo d gwYmbm X.gm.X.eo. 7.5 XamZo ì¶mO {‘imbo. Oa a‘oebm 
gwYmnojm 500 ê$n¶o OmñV {‘imbo Agob Va a‘oeZo {H$Vr a³H$‘ ~±Ho$V R>od R>odbr hmoVr?  

(1)	 100000			   (2)	 50000

(3)	 7500			   (4)	 150000

51. [aH$må¶m Mm¡H$Q>rV ¶oUmè¶m ¶mo½¶ CËVamMm n¶m©¶ {ZdS>m.

932004 –  = 59896  

(1)	 991900			   (2)	 927892

(3)	 857898			   (4)	 872108
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52. Rutuja had some amount. She distributed it among 47 students. When she 
gave Rs. 50 to each student, Rs. 37 were left with her. How much amount 
did she have?

(1)	 Rs. 2350			   (2)	 Rs. 2387	

(3)	 Rs. 2313			   (4)	 Rs. 1897

53. 2 lakhs + 13 thousands + 72 hundreds + 38 tens + 13 units = ?

(1)	 220593			   (2)	 213733813	

(3)	 22033813			   (4)	 220393

54. 2 tens + 3 units + 5 hundredth + 8 one tenth = ?

(1)	 23.58			   (2)	 2358	

(3)	 238.5			   (4)	 23.85

55. Select the incorrect option from the given alternatives.

1 Ream = _______ papers

(1)	 20 quires			   (2)	 40 gross	

(3)	 480 sheets			   (4)	 40 dozen

56. The sum of two numbers is 39.62. If one number is 1.259 then what will be 
the other number?

(1)	 2.703			   (2)	 27.03	

(3)	 38.361			   (4)	 40.879
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52. G$VwOmOdi H$mhr a³H$‘ hmoVr. Ë¶mn¡H$s àË¶oH$ {dX²¶mÏ¶m©bm 50 én¶o ¶mà‘mUo  
47 {dX²¶mÏ¶mªZm dmQ>bo AgVm, {VÀ¶mOdi 37 én¶o ~mH$s amhrbo, Va G$VwOmOdi 
{H$Vr a³H$‘ hmoVr?  

(1)	 2350 ê$n¶o			   (2)	 2387 ê$n¶o

(3)	 2313 ê$n¶o			   (4)	 1897 ê$n¶o

53. 2 bj + 13 hOma + 72 eVH$ + 38 XeH$ + 13 EH$H$ = {H$Vr?

(1)	 220593			   (2)	 213733813

(3)	 22033813			   (4)	 220393

54. 2 XeH$ + 3 EH$H$ + 5 eVm§e + 8 Xem§e = {H$Vr?

(1)	 23.58			   (2)	 2358

(3)	 238.5			   (4)	 23.85

55. Imbrb n¶mª¶mn¡H$s H$moUVm n¶m©¶ A¶mo½¶ Amho Vo {ZdS>m?

1 ar‘ = ............ H$mJX

(1)	 20 XñVo			   (2)	 40 J«mog

(3)	 480			   (4)	 40 S>PZ

56. XmoZ g§»¶mMr ~oarO 39.62 Amho. Oa EH$ g§»¶m 1.259 Agob Va Xþgar g§»¶m H$moUVr?

(1)	 2.703			   (2)	 27.03

(3)	 38.361			   (4)	 40.879
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57. What will be the simple interest on the principal of Rs. 5000 at 7 p.c.p.a in 
3 years?

(1)	 Rs. 10500			   (2)	 Rs. 105	

(3)	 Rs. 1500			   (4)	 Rs. 1050

58. Neha walks daily to complete 5 rounds along a triangular ground whose every 
side is 100m. Then, How much distance does she cover walking around the 
ground in one week?

(1)	 12 km			 

(2)	 3 km 500 m

(3)	 14 km 500 m			

(4)	 10 km 500 m

59. Select the correct option from the following expressions.

(1)	 24 – 12 + 3 × 5 = 27	

(2)	 18 – 10 + 3 × 2 = 2

(3)	 15 × 12 – 2 + 4 = 176	

(4)	 18 + 30 ÷ 3 × 2 = 32

60. Which of the following angles has measured less than 4
1  times of 360°?

(1)	 Right angle			   (2)	 Obtuse angle	

(3)	 Acute angle	 	 	 (4)	 Reflex angle



0101-Marathi Set-A 	  23 of 32	 P.T.O.

H$ÀÀ¶m H$m‘mgmR>r ’$³V

57. X.gm.X.eo. 7 XamZo 5000 ê$n¶o ‘wX²Xbmda 3 dfmªMo ì¶mO {H$Vr ê$n¶o hmoB©b?

(1)	 10500 ê$n¶o			   (2)	 105 ê$n¶o

(3)	 1500 ê$n¶o			   (4)	 1050 ê$n¶o

58. Zohm XaamoO àË¶oH$s 100 ‘rQ>a ~mOy Agboë¶m {ÌH$moUmH¥$Vr ‘¡XmZmbm 5 ’o$è¶m MmbV 
nyU© H$aVo. Va Vr EH$m AmR>dS>çmV ‘¡XmZm^modVr {H$Vr A§Va MmbV nyU© H$aVo?

(1)	 12 {H$‘r	

(2)	 3 {H$‘r 500 ‘rQ>a

(3)	 14 {H$‘r 500 ‘rQ>a	

(4)	 10 {H$‘r 500 ‘rQ>a

59. Imbrbn¡H$s nXmdbrMo ¶mo½¶ CËVa AgUmam n¶m©¶ {ZdS>m. 

(1)	 24 – 12 + 3 × 5 = 27

(2)	 18 – 10 + 3 × 2 = 2

(3)	 15 × 12 – 2 + 4 = 176

(4)	 18 + 30 ÷ 3 × 2 = 32

60. Imbrbn¡H$s H$moUË¶m H$moZmMo ‘mn 360° À¶m 4
1  nQ>rnojm H$‘r AgVo?

(1)	 H$mQ>H$moZ			   (2)	 {dembH$moZ

(3)	 bKwH$moZ			   (4)	 à{dembH$moZ
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61. There are 1600 students in a school. What will be the number of boys in the 
school, if there are 48% girls?

(1)	 768			   (2)	 832	

(3)	 52			   (4)	 640

62. Joseph bought 2 pens at the rate of Rs. 12 and 50 paisa and 5 pencils at the 
rate of Rs. 5 and 25 paisa. How much amount did he spend on his purchase?

(1)	 Rs. 17.75			   (2)	 Rs. 51.25	

(3)	 Rs. 35.25			   (4)	 Rs. 37.25

63.

+ + = How much?

(1)	 84
127 			   (2)	 14

7 	

(3)	 14
127 			   (4)	 2

1

64. Double of the common factors of two co-prime numbers is _______.

(1)	 Smaller of the two co-prime numbers.

(2)	 Greater of the two co-prime numbers.

(3)	 1

(4)	 2
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61. EH$m emioMm EHy$U nQ> 1600 Amho. Oa emioV 48% ‘wbr AgVrb Va Ë¶m emioVrb 
‘wb½¶m§Mr g§»¶m {H$Vr?

(1)	 768			   (2)	 832

(3)	 52			   (4)	 640

62. Omogo’$Zo 12 ê$n¶o 50 n¡go ¶m XamZo XmoZ noZ Am{U 5 ê$n¶o 25 n¡go ¶m XamZo nmM 

{egnopÝgbr {dH$V KoVë¶m Va Omogo’$Zo EHy$U {H$Vr ê$n¶m§Mr IaoXr Ho$br?

(1)	 17.75 ê$n¶o			   (2)	 51.25 ê$n¶o

(3)	 35.25 ê$n¶o			   (4)	 37.25 ê$n¶o

63.

+ + = {H$Vr?

(1)	 84
127 			   (2)	 14

7

(3)	 14
127 			   (4)	 2

1

64. XmoZ gh‘yi g§»¶m§À¶m gm‘mB©H$ Ad¶dmMr XþßnQ> ............ AgVo.

(1)	 XmoZ gh‘yi g§»¶m§n¡H$s bhmZ g§»¶m	

(2)	 XmoZ gh‘yi g§»¶m§n¡H$s ‘moR>r g§»¶m

(3)	 1			 

(4)	 2
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Instruction for Question No. 65 and 66.

Solve the questions referring to the pictorial diagram given. 

Scale : (1  = 20 trees)

Participating schools in tree plantation No. of trees planted

Dnyanda Vidyalaya
                        

Vidya Niketan School
            

Z. P. Primary School
      

Sadhana Vidyalaya
                   

Adarsh Vidyalaya
                  

65. How many more trees did Dnyanada Vidyalaya plant than Sadhana Vidyalaya?
(1)	 1			   (2)	 9	
(3)	 20			   (4)	 50

66. How many trees were planted in all, by the participating schools during the 
tree plantation programme?
(1)	 17			   (2)	 340	
(3)	 20			   (4)	 170

67. Eight thousand seven hundred and twelve + Twelve thousand seven hundred 
and fifty = How much?
(1)	 21462			   (2)	 22462	
(3)	 20962			   (4)	 21962
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àíZ H«$. 65 d 66 gmR>r gyMZm - 

	 Imbrb {MÌê$n ‘m{hVrÀ¶m AmYmao Imbrb àíZm§Mr CËVao {bhm.

	 (à‘mU : 1  = 20 PmS>o)

d¥jmamonUmV gh^mJr emim bmdboë¶m PmS>m§Mr g§»¶m

kmZXm {dÚmb¶                         

{dÚm{ZHo$VZ emim             

{O.n. àmW. emim       

gmYZm {dÚmb¶                    

AmXe© {dÚmb¶                   

65. gmYZm {dÚmb¶mnojm kmZXm {dÚmb¶mZo {H$Vr PmS>o OmñV bmdbr?

(1)	 1			   (2)	 9

(3)	 20			   (4)	 50

66. d¥jmamonU H$m¶©H«$‘mA§VJ©V gh^mJr emim§Zr EHy$U {H$Vr PmS>o bmdbr?

(1)	 17			   (2)	 340

(3)	 20			   (4)	 170

67. AmR> hOma gmVeo ~mam + nmdUo Voam hOma = {H$Vr?

(1)	 21462			   (2)	 22462

(3)	 20962			   (4)	 21962
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68. Soham exchanged 6 notes of Rs. 2000 with equal number of notes of Rs. 100 
and Rs. 50. How many notes of Rs. 100 will he get?

(1)	 120			   (2)	 40	

(3)	 80			   (4)	 160

69. Using the digits 3, 2, 5, 0, 8 atleast once, a smallest 6 digit odd number is 
formed. What will be the product of the digits at one’s and hundred’s place?

(1)	 24			   (2)	 40	

(3)	 15			   (4)	 16

70. Nisha sold an article at Rs. 1730 which she had purchased at Rs. 1350. How 
much profit or loss did she make?

(1)	 Rs. 420 profit		 	 (2)	 Rs. 380 loss

(3)	 Rs. 420 loss	 	 	 (4)	 Rs. 380 profit

71. A cube is formed by folding the adjoining figure. 
Which digit will not appear on the cube, to the 
adjacent side of 4?

(1)	 16			 

(2)	 36

(3)	 25			 

(4)	 9

1

9 4

36 16

25
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68. gmoh‘Zo 2000 ê$n¶m§À¶m 6 ZmoQ>m ~XbdyZ 100 ê$n¶o d 50 ê$n¶m§À¶m g‘mZ ZmoQ>m 
KoVë¶m AgVm 100 ê$n¶m§À¶m {H$Vr ZmoQ>m {‘iVrb?

(1)	 120			   (2)	 40

(3)	 80			   (4)	 160

69. 3, 2, 5, 0, 8 ho A§H$ àË¶oH$s {H$‘mZ EH$Xm dmnê$Z ghm A§H$s bhmZmV bhmZ 
{df‘ g§»¶m V¶ma Ho$br AgVm EH$H$ d eVH$ ñWmZÀ¶m A§H$mMm JwUmH$ma {H$Vr?

(1)	 24			   (2)	 40

(3)	 15			   (4)	 16

70. {ZemZo 1350 ê$n¶m§g KoVbobr EH$ dñVy 1730 ê$n¶m§g {dH$br. ¶m ì¶dhmamV {Vbm 
{H$Vr Z’$m H$s VmoQ>m Pmbm?

(1)	 420 ê$n¶o Z’$m			   (2)	 380 ê$n¶o VmoQ>m

(3)	 420 ê$n¶o VmoQ>m			   (4)	 380 ê$n¶o Z’$m

71. eoOmarb AmH¥$Vr Xþ‘Sy>Z KZ ~Z{dë¶mg 4 hm A§H$ Agboë¶m 
n¥ð>mÀ¶m bJVÀ¶m n¥ð>mda H$moUVm A§H$ ¶oUma Zmhr?

(1)	 16

(2)	 36

(3)	 25

(4)	 9

1

9 4

36 16

25
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72. Which of the following statements is FALSE, with respect to triangular numbers 
and square numbers.

(1)	 Half the product of 2 consecutive numbers gives a triangular number.

(2)	 1 is triangular as well as square number.

(3)	� When a number is multiplied by the number itself, the result is a square 
number.

(4)	 The product of two consecutive numbers is a triangular number.

73. What will be the 5th number, from left side when the 2 digit numbers divisible 
by 12 are arranged in descending order?

(1)	 60			   (2)	 12	

(3)	 48			   (4)	 36

74. Out of 12 km 300 m distance, Afroz covered 9 km 500 m distance on bicycle. 
She covered the remaining distance running. How much distance, did she cover 
running?

(1)	 2.8 km			   (2)	 2.800 m	

(3)	 3.200 m			   (4)	 21.800 km

75. For a trip in the month of May, Swara booked air tickets in advance for  
Rs. 5780. Due to some reason, she had to cancel the ticket. She got an amount 
back with the deduction of 30%. How much loss did she suffer?

(1)	 Rs. 1734			   (2)	 Rs. 1534	

(3)	 Rs. 1724			   (4)	 Rs. 1504
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72. {ÌH$moUr d Mm¡ag g§»¶m§À¶m ~m~VrV Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho? 

(1)	 XmoZ H«$‘dma g§»¶oÀ¶m JwUmH$mamMr {Z‘nQ> Ho$ë¶mg {ÌH$moUr g§»¶m {‘iVo.

(2)	 1 hr {ÌH$moUr Am{U Mm¡ag g§»¶m Amho.

(3)	� {Xboë¶m g§»¶obm Ë¶mM g§»¶oZo JwUë¶mg {‘iUmar g§»¶m Mm¡ag  
g§»¶m AgVo.	

(4)	 XmoZ H«$‘dma g§»¶mMm JwUmH$ma Ho$ë¶mg {ÌH$moUr g§»¶m {‘iVo.

73. 12 Zo {d^mÁ¶ Agboë¶m XmoZ A§H$s g§»¶m CVaË¶m H«$‘mZo ‘m§S>ë¶mg S>mdrH$Sy>Z nmMdr 
g§»¶m H$moUVr?

(1)	 60			   (2)	 12

(3)	 48			   (4)	 36

74. A’$amoOZo 12 {H$‘r 300 ‘rQ>a A§Vamn¡H$s 9 {H$‘r 500 ‘rQ>a A§Va gm¶H$bZo nma Ho$bo. 
Cd©[aV A§Va {VZo YmdV nma Ho$bo. Va {VZo {H$Vr A§Va YmdV nma Ho$bo?

(1)	 2.8 {H$‘r.			   (2)	 2.800 ‘rQ>a 

(3)	 3.200 ‘rQ>a			   (4)	 21.800 {H$‘r.

75. ñdamZo ‘o ‘{hÝ¶mV ghbrbm OmÊ¶mgmR>r nwUo Vo {Xëbr {d‘mZmMo AmJmD$ {VH$sQ> 5780 
ê$n¶m§g H$mT>bo. na§Vw H$mhr H$maUm‘wio {VZo Vo {VH$sQ> aX²X Ho$bo. {Vbm 30% a³H$‘ 
H$nmV H$ê$Z Cd©[aV a³H$‘ {‘imbr. Va ñdambm {H$Vr ZwH$gmZ Pmbo?   

(1)	 1734 ê$n¶o			   (2)	 1534 ê$n¶o

(3)	 1724 ê$n¶o			   (4)	 1504 ê$n¶o
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